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Write the augmented matrix for each system of linear equations.
1) 5x-2y=-6 2) -3x—-4y=20
-X+5y=15 3x-5y=25
3) x+3y—-2z=-11 4) 2x—-4y-5z=11
—2X-5y+3z=17 —X+4z=-25
4x-z=1 -3X-5y+z=-25

Write the system of linear equations for each augmented matrix.

30401 5 11-16
5)[—3 2523} 6)[1 55—2}

341 17 8 -5 -4 3 -8
7|0 -1 2i-10 8|1 0 4.0
-2 2 2 -8 3 -5 5{-10



Find the reduced row-echelon form for each system of linear equations.

9) 5x—4y=-10
-X+y=2

11) x—-y+2z=-1
-3X+3y+5z2=3
2X -2y =-2

10) 4x-2y=2
SX=2y+z=17
3X+4y—-z=3

12) 3x+3y=-12
—4x-2y+2z=-14
X+3y+2z=11

Solve each system of linear equations using Gaussian or Gauss-Jordan elimination.

13) -3x—-4y=-5
4x+3y=9

15) 3x+2y—-3z=13
AXx+4z2=12
—2X—-y+z=-8

14) 2x+ S5y +z=-12
—X+4y+3z=-+4
5x—-2z=-13

16) -2x—-4y+4z=14
4X+2y+4z=-4
X+22=-2
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Write the augmented matrix for each system of linear equations.

1) 5x-2y=-6
-X+5y=15

5 2 -6
-1 5 115

3) x+3y—-2z=-11
—2X-5y+3z=17
4x-z=1

13 2011
-2 =5 3 17
4 0 -1 1

2) -3x—-4y=20
3x-5y=25

-3 420
3 5125

4) 2x—-4y-5z=11
—X+4z=-25
-3Xx-5y+z=-25

2 4 -5 11
-1 0 4 | -25
3 -5 1 | -25

Write the system of linear equations for each augmented matrix.

3411
5)[—3 2523}

3x+4y=1
—-3x+2y=23

nlo -1 2 -0

3X—y+z2=38
-y +2z=-10
—2X+2y+22=-8

-5 1{-16
6)[1 5 —2}

-5Xx+y=-16
X+5y=-2

-5 -4 3 -8
8|1 0 4.0
3 -5 5i-10

—5X—-4y+32=-8
X+4z=0
3IX=5y+5z2=-10

Period



Find the reduced row-echelon form for each system of linear equations.

9) 5x—4y=-10
-X+y=2

102
0 1.0

11) x—y+2z=-1

-3X+3y+5z2=3
2X -2y =-2

1 -1 0}-1
0 0 1:i{0
0 0 0:0

10) 4x-2y=2

12) 3x+3y=-12
—4x-2y+2z=-14

X+3y+2z=11
1 0 -1:0
01 10
0 0 0l

Solve each system of linear equations using Gaussian or Gauss-Jordan elimination.

13) -3x—-4y=-5
4x+3y=9

(3, -1)

15) 3x+2y—-3z=13
Ax+4z2=12
—2X—-y+z=-8

(—z+3, 3z+2, z)

14) 2x+ S5y +z=-12

-X+4y+3z=-4
5x—-2z=-13
(=3,-1,-1)

16) -2x—4y+4z=14
4X+2y+4z=-4
X+22=-2

No solution.
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